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Ideals for irreducible component#ﬂ)f Xpar

It = (—u®+16u® + -+ b1, 2+ 1500+ +a+ 1, u® —2uB + . fu—1)
=W +b—-1,a+1, v +u*—2u—1)

* 2 irreducible components of dim¢ = 0, with total 27 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
It = (—u®+16u?' +- - -+b—1, —u??+15u?°+- - -+a+1, u?*—2u?3+.. . +u—1)

(i) Arc colorings

az = \ —u? +15u? + - 4+ 8u? + 2u

ud — bub + Tut —4u? 4+ 1
w9 — 6ud + 11u8 — 6u? — u?

—uB +u?? o —bu—1 )

(ii) Obstruction class = —1

(iii) Cusp Shapes = u?* — 4u?? — 16u?! + 62u?° + 110u!® — 405u!® — 42007 +
1453u'® + 940u'° — 3134w — 1118u™ 4+ 4197u'? + 260u'! — 3495u'0 + 1034u° +
1741u® — 126947 — 400u® 4+ 550u° — 66u* — 92u® + 43u? + 22u — 5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ u? 4 8u® 4+ 34u+ 1
Co,Cy w —4uB -+ 6u—1
C3,Cs W+ uP 4+ 4 36u+8
05766707 u2472u23+...+u71
€10, C11, C12
Co u? 4 2uP o Tu 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1 Y 20y% - — 534y + 1
C2,C4 yH =8y 4 =34y +1
3, C8 y?t —21y% + ... — 1040y + 64
Cs, Ce, C7 y24—34y23+~~721y+1
€10, C11, C12
Co v 426y 4+ - 21y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = 1.065440 4 0.1050911
a = —0.101056 — 1.0179401
b= 0.427572 + 0.7877161

—4.78298 — 2.159861

—14.8245 4 3.70421

u = 1.065440 — 0.1050911
a = —0.101056 + 1.0179401
b= 0.427572 — 0.7877161

—4.78298 + 2.159861

—14.8245 — 3.70421

u = —1.044560 + 0.2933031
a= 0.060787 — 0.4854821
b= 0.951447 + 0.4377991

0.73559 4 1.571871

—10.92931 — 1.488981

u = —1.044560 — 0.2933031
a= 0.060787 + 0.4854821

0.73559 — 1.571871

—10.92931 +- 1.488981

b= 0.951447 — 0.4377991

u = —1.08841

a = —1.48671 —6.35267 —13.5900
b= —1.10653

u = —1.158950 4 0.2919581
a= 0.215884 + 1.1484801
b = —0.234965 — 0.5523001

—0.44591 + 7.862801

—12.55352 — 5.991651

u = —1.158950 — 0.2919581
a= 0.215884 — 1.1484807
b = —0.234965 + 0.5523001

—0.44591 — 7.862801

—12.55352 4 5.991651

u= 129716
a = —0.674636
b= 10.0175724

—7.12889

—9.59420

u= 0413733 +0.5471711
a = —0.390896 + 1.0565601
b= -0.969122 + 0.6211691

4.52862 — 4.983401

—8.25902 + 6.131451

u= 0413733 —0.5471711
a = —0.390896 — 1.0565601
b= —-0.969122 — 0.6211691

4.52862 + 4.983401

—8.25902 — 6.131451




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0.292302 + 0.5647111
a= 0.90790 — 1.365821
b= 0.567413 + 0.0085621

4.89005 + 1.341871

—6.87930 + 0.470181

u= 0.292302 — 0.5647111
a= 0.90790 4 1.365821
b= 0.567413 — 0.0085621

4.89005 — 1.341871

—6.87930 — 0.470181

u = —0.544664
a= 0.533142 —0.910827 —10.5330
b= 0.444791

u = —0.260496 + 0.2777851
a= 1.25655 — 0.850261
b= —-0.092184 — 0.6323061

—0.635329 + 0.9185491

—9.38568 — 7.319491

u = —0.260496 — 0.2777851
a= 1.25655 + 0.850261
b= —0.092184 + 0.6323061

—0.635329 — 0.9185491

—9.38568 + 7.319491

u= 0.266177
a = —2.54350 —2.02344 2.35380
b= 0.862360

u= 173483 + 0.066151
a = —1.05402 4 1.434501
b= —1.58632 + 2.388771

—9.17857 — 2.994791

—11.67464 4 0.806241

u= 173483 —0.066151
a = —1.05402 — 1.434501
b= —1.58632 — 2.388771

—9.17857 4 2.994791

—11.67464 — 0.806241

u = —1.74821 + 0.023941
a = —0.42595 4 2.658361
b= —0.53152 + 4.794371

—14.9721 + 2.67821

—14.7087 — 2.48591

u = —1.74821 — 0.023941
a = —0.42595 — 2.658361
b= —0.53152 — 4.794371

—14.9721 — 2.67821

—14.7087 + 2.48591




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u= 1.75360
a = —0.586507 —16.6700 —14.3680
b= —1.87176

1.76989 + 0.076701
1.04117 — 2.398161

—11.0119 — 9.46291

—13.6249 + 4.97851

b= 2.07334 —4.418307
= 1.76989 — 0.076701
= 1.04117 4 2.398161 | —11.0119+9.46291 | —13.6249 —4.9785]
b= 2.07334 + 4.418307
u = —1.81183
a = —1.26255 —18.6696 —7.58970
b= —2.55776




IL I =(u?+b—1,a+1, u> +u? —2u —1)

(i) Arc colorings
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(ii) Obstruction class =1

(iii) Cusp Shapes = u? +u — 23



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
3
C1,C2 (u — 1)
C3,Cg u3
Cy 1 3
(u+1)
€5, C6, C7 ud —u? —2u+1
Co
3 2_9 1
€10, C11, C12 u” +u” —2u—




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
3
C1,C2,C4 (y_l)
C3,C8 y3
Cs5,C6, CT
#—5y® +6y—1
€9, €10, C11 Yy Y Yy
C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape

u= 1.24698
a = —1.00000 —7.98968 —20.1980

b= —0.554958
u = —0.445042
a = —1.00000 —2.34991 —23.2470

b= 10.801938

u = —1.80194

a = —1.00000 —19.2692 —21.5550

b= —2.24698
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u—1*)(u?* 4 8u?* + -+ 34u + 1)
2 (0= 1)~ 40 4 Gu— 1)
cs, Cs ud(u?* +u® 4 - 4 36u + 8)
4 (w+1)%) (w2 — 4u® + -+ 6u—1)
cs, Cg, C7 (u? —u? —2u+ D) =20+ fu—1)
€9 (u —u? —2u+ D) (u* +2u® + -+ Tu+1)
€10, C11, €12 (u +u? —2u— 1) (u** —2u* - fu—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
e ((y = D*) (™ + 209> +--- — 534y + 1)
C2, €4 (y—1*) (™ —8y* + - =34y +1)
C3,Cs P (y*t — 21y% + .-~ — 1040y + 64)
C5, C6, C7 (43 — 5y% + 6y — 1)(y** — 34y + .- — 21y + 1)

€10, C11,C12

C9

(y® — 5y? + 6y — 1) (v 4+ 2692 +--- — 21y + 1)
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